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32x32 Image

BEER64%64

i

i RN A$32*32H9

def resize(img): 64x64 Image

numberofImage = img.shape[8]

new_array = np.zeros((numberofImage

for i in range(numberofImage) :
new_array[i] = tf.image.resize(img[i]|{64,ﬁ4}1

return new_array

64,64,1}1
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K Sequential &£ BUSKE : relu

model = Sequential()

model.adq(Conv2Dffilters = 128, kernel_size = (4,4), padding = "Same", activation = "relu", input_shape = (64,64,1)))

l
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model.add(MaxPool2D | pool_size = (2,2)))

i

45&“: model.adfilters = 64, kernel_size = (4,4), padding = "Same", activation = "relu" ))
model.add{EaxPoolZD pool_size = (2,2)))

1}?5$ model.adfilters = 32, kernel_size = (4,4), padding = "Same", activation = "relu" ))
madel.addpool_size = (2,2)))
model.adilters = 16, kernel_size = (4,4), padding = "Same", activation = "relu" ))

1dropout,¢=é.' model.add(MaxPool2D pool_size = (2,2)))

model.add{Flatten)))

model.add(Denselunits = 512, activation = "relu”))

model.add|Dropout8.6))

model.add(Denselunits = NumberofClass, activation = "softmax"))
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B{c=2(E2& %0.001)

loss = "categorical_crossentropy”, metrics = ["accuracy"])
hist = model.fit(x_ ' ' , y_train,lbatch_size = 512I

iepochs = 1Ei validation_data = (x_val_resized, y_val))
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model.compile(optimizer
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16 = Taining loss
- Validation loss
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- Taining accuracy
- Validation accuracy 0.0
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Epoch E2AccuracyRIRd % Epoch £l ossHY R %

Epoch 10/10
170/170 [==============================] - 1606s 9s/step - loss: 0.0299 - accuracy: ©.9901 - val loss: 0.2350 -I val accuracy: ©.9615 I
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iroptimozer FHadamZ A rmsprop

model.compile(optimizer =I"rmsprop"l loss = "categorical_crossentropy”, metrics = ["accuracy"])
b 200 = Taining loss
- \/alidation loss
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Epoch EdAccuracyBVfE1:  Epoch EdlossHIREa %

Epoch 10/10
170/170 [==============================] - 1464s 9s/step - loss: 0.0289 - accuracy: ©.9906 - val loss: 0.1865 -Ival_accuracy: 0.9726'
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iFdropout/E %2 0.6 430.5

model.add|(Dropout(8.5)}

175
10 - Training loss

- Validation loss
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- TFaining accuracy
- Validation accuracy 0.00

0 2 6 8 0 2 4 6 8

Epoch E2AccuracyRI R % Epoch ELossHY R %

170/170 [==============================] - 1463s 9s/step - loss: 0.0233 - accuracy: 0.9929 - val_loss: 0.1158 I val_accuracy: 0.9728'
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